
Year 2 Worksheet 6: Subtraction

Question 1: Find the missing numbers.

__ - 3 = 7 8 - __ = 2 9 - 5 = __

__ - 2 = 6 7 - __ = 1 __ - 4 = 2

10 - __ = 3 6 - 1 = __ __ - 7 = 3

4 - __ = 2 5 - 2 = __ __ - 3 = 5

7 - __ = 5 9 - 6 = __ __ - 1 = 8

10 - __ = 8 __ - 4 = 1 3 - __ = 1
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Question 2: Write the following subtraction in column and find the answer.

25 - 3 = __

25
+ 03
____

47 - 6 = __ 63 - 2 = __ 82 - 5 = __

69 - 7 = __ 59 - 6 = __ 64 - 2 = __ 39 - 7 = __

38 - 1 = __ 42 - 1 = __ 48 - 3 = __ 58 - 4 = __

93 - 3 = __ 26 - 5 = __ 76 - 2 = __ 76 - 1 = __
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Question 3: Find the answers.

10 - 8 = __ 20 - 3 = __ 30 - 6 = __

40 - 2 = __ 50 - 5 = __ 60 - 7 = __

70 - 4 = __ 80 - 1 = __ 90 - 8 = __

100 - 9 = __ 20 - 9 = __ 30 - 4 = __

40 - 3 = __ 50 - 2 = __ 60 - 8 = __

70 - 6 = __ 80 - 5 = __ 90 - 1 = __

100 - 7 = __ 110 - 4 = __ 110 - 8 = __
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Answer Key

Question 1: Find the missing numbers.

10 - 3 = 7 8 - 6 = 2 9 - 5 = 4

8 - 2 = 6 7 - 6 = 1 6 - 4 = 2

10 - 7 = 3 6 - 1 = 5 10 - 7 = 3

4 - 2 = 2 5 - 2 = 3 8 - 3 = 5

7 - 2 = 5 9 - 6 = 3 9 - 1 = 8

10 - 2 = 8 5 - 4 = 1 3 - 2 = 1
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Question 2: Write the following subtraction in the column and find
the answer.

25 - 3 = 22 47 - 6 = 41 63 - 2 = 61 82 - 5 = 77

69 - 7 = 62 59 - 6 = 53 64 - 2 = 62 39 - 7 = 32

38 - 1 = 37 42 - 1 = 41 48 - 3 = 45 58 - 4 = 54

93 - 3 = 90 26 - 5 = 21 76 - 2 = 74 76 - 1 = 75
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Question 3: Find the answers.

10 - 8 = 2 20 - 3 = 17 30 - 6 = 24

40 - 2 = 38 50 - 5 = 45 60 - 7 = 53

70 - 4 = 66 80 - 1 = 79 90 - 8 = 82

100 - 9 = 91 20 - 9 = 11 30 - 4 = 26

40 - 3 = 37 50 - 2 = 48 60 - 8 = 52

70 - 6 = 64 80 - 5 = 75 90 - 1 = 89

100 - 7 = 93 110 - 4 = 106 110 - 8 = 102
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